Errata

We discovered errors in (i) the value of 7 in equation (43), (ii) the value
of 7/ in Algorithm 1, (iii) equation (59), and (iv) equations (84)-(85) in the
Appendix.

(i) Before correcting (43), we provide the following Bellman equation for all
7 € II and for all (4, d):
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Equation (1) is missing in the paper, but necessary. For a given state (¢’,d’),
we consider

hae(6',d') = 0,¥r € TL. (2)

Now, we are ready to provide the correct equation for computing the average
inference error p,. By using (1) and (2), we obtain:
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where 7 = Z.(8',d") + Ty (1:(&,d')).

(ii) The value of 7 in Algorithm 1 is given by

7 Z(8,d) + T (L (5, d)). (4)

(iii) The optimal feature length I7 , (¢) is determined by

Galt) = axg_ma by a(A®)+ 1Ld0)-hyaia) +1,0-M. (5)



(iv) V(-) in (84)-(85) needs to be replaced by h(-) as follows:
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